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What does Fo - me asurability mean ?

Prep : Let t be a stopping time on crit, new) and let Z :r→ IR
.
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.
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14 ⇒0 We have left to prove that if Yn -

- r→ IR is adapted ( including Ys) ,
then Ya is Fo - measurable - To that end

,
note

Yt = ↳ Is e -- h} Th .

i - suffices to show I geeky he is go -meas .

He .

So
,
need to show that if W is Fa - measurable

,
then Aseem is E - moas

.

Suffices to prove this in the special case we be for any Eeg by Dynkin .

W D gooey
= DE BE one } = DEest te}

So we need only check that En et 'D c- to
.

CE neowoo so as} -
- { ¥. EEF an} ton ¥ .

Cor : If (Xn) net is an adapted process in GB) and
t is a finite stopping time , then Xo is 8dB - moas

.

Pf. BeB
,
Xo
-'

(B) = Boxes
"
Ct) to
-

Yi- Bb :#→ readapted. To
"t


